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General Instructions:

1. The question paper consists of 50 multiple choice questions divided into 3 sections A,
B and C.

2. Section A comprises of 20 questions. Any 16 are to be attempted.

3. Section B comprises of 20 questions. Any 16 are to be attempted.

4. Section C comprises of 10 questions based on two case studies. Attempt Any 8

questions.

Each question carries 1 mark.

Each question has 4 choices, you have to select any one of them.

There is no negative marking.

SN A

Use of calculators is not permitted.
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SECTION - A

s I H Fl 20 G &, A8 @ fohegl 16 Tl I goT L g

Section A comprises of 20 questions. Any 16 are to be attempted.

Q. No.

Marks

T gfdadl ST 98 ¢
(a) To@err &ioT 90° & 31+ g
(b) TSTeRT *IUT 90° & & gl
(c) Toremt @loT 180° & f8e 3R 360° & e Bl
(d) TS T 180° & SRR g

A reflex angle is:
(a) more than 90°.
(b) less than 90°.
(¢) more than 180° and less than 360°.
(d) equal to 180°.

T THOST I SN FT 3T 2:1:3 IR aRAT 24 cm &1 Bger Hr qeq
CEIE SR I EAE] b

Sides of a triangle are in the ratio 2:1:3 and its perimeter is 24 cm. The length of
the longest side of the triangle will be:

(a 14cm

(b) 13 cm

(c) 12cm

(d 16cm

T IRAT TUT ARAT AT FI IJUTADR oo 6|
(a) Gda U qUlish
(b) TeT T IRAT TEAT
(c) ¥&a U IURAT FdE&Ar
(d) e aRAT 3R Feh 3aRAT dear

The product of a rational and an irrational number is:
(a) always an integer.
(b) always a rational number.
(c) always an irrational number.
(d) sometimes rational and sometimes irrational.

3R &1 YT IO &1 3HeareT 10:8 §, dF I 0T ghal: -
If two complementary angles are in the ratio 10 : 8, then the angles are:
(a) 50°, 40°
(b) 100°, 80°
(c) 60° 30°
(d) 65° 25°




o & & Pl O &ar 3aRAT § 2

Which of the following is irrational ?

@

(b)
©)
(d)

aﬁam

PrTarle # @ Flor-ah P & wtorawar &1 Fuldr w8 37

Which of the following is not a criterion for congruence of triangles?
(a) SAS

b) ASA

c) SSA

(
(
(d) SSS

Teh TS & ar e 18 cm 3 10 cm 3R aRAT 42 cm ¢ | BT &
&Il AT M7

Two sides of a triangle are 18 cm and 10 cm and the perimeter is 42 cm. What will
be the area of the triangle?

(a) 14y11 cm2

(b) 21Y/11 cm?

(c) 35V11 cm?

(d) 28v11 cm?

f33rsit ABC 3R PQR #, AB = AC, 2C = <P 3R 4B = 2Q &I a B &
(a) THESASTE wifehet HaforaA el
(b) THEfasTg 3R Hafora|
(c) TeiITHA WAfhet FHACfIaTg el
(d) o ar FavEa AR F & FHEAATg]

In triangles ABC and PQR, AB = AC, 2C = £ZP and £B = £Q. The two triangles are:
(a) isosceles but not congruent.
(b) isosceles and congruent.
(c) congruent but not isosceles.
(d) neither congruent nor isosceles.

0-35 & = &9 (el p 7 q TH § I q # 0) &

The g (where p & q are integers and q # 0 ) form of 0-35 is:




10.

3eRst 29, 81, 21, 22, 16, 6, 17,15,12, 30, 32, 8, 91, 8, 11, 20 & IRW

g
The range of the data 29, 81, 21, 22, 16, 6, 17,15,12, 30, 32, 8, 91, 8, 11, 20 is:
(@) 10

(b) 75
(c) 85
(d) 26
1. | o @ &1 GHER0T St x-37187 & IR T AR 5 FHhs A g | o
Equation of a line which is 5 units distance above the x-axis is:
(@ x=5
(b) x+5=y
© y-5=0
(d) x-y=0
12 | x =33 y=-2 faRoT kx - 3y = 12 FT U g &, A k FT AT ¢
x =3 and y =-2is a solution of the equation kx - 3y = 12, then the value of k is:
(@) 0
(b) 2
(c) 12
(d) 3
13. | SRaRar deof & 9 Rt 389 y&R fGu 7w &
The class marks of a frequency distribution are given as follows:
15, 20, 25, ...
adt et 15 & dord aof &
The class corresponding to the class mark 15 is:
(a) 12.5-17.5
(b) 17.5-225
(c) 185-21.5
(d) 19.5-20.5
14. 1 AABC #, BC = AB 3R «B = 80° 8| d <A TR §:
In AABC, BC = AB and 4B = 80°. Then £A is equal to:
(a) 800
(b) 400
(c) 500
(d) 1000
15. | 59 @ gaEiaR @it & e fOde Y@r #edr €, a9 Ode @ & vh R §o
AR IO gier:
(a) Y
(b) 3MTHesT SHIUT
(c) Y IoT

(d) T HioT




If two parallel lines are intersected by a transversal, then the interior angles on
the same side of the transversal are:

(a) equal.

(b) adjacent.

(c) supplementary.

(d) complementary.

16. | gafiEor 2x + 5y = 6 & oW x-37&T F g O Frear g
The graph of the equation 2x + 5y = 6 cuts the x-axis at the point:
(@) (0,3)
(b) (3,0)
() (2,0)
(d) (0, 2)
17. =g far w=m § & AABC = AFDE 3R AB = 5 @#T, «B = 40° 3R
¢A = 80° 8| ar faratfaf@a # & &l ar a7 87
It is given that AABC = AFDE and AB =5 cm, 2B = 400 and £A = 80°. Then which
of the following is true?
(a) DF =5 cm, 2F = 600
(b) DF =5 cm, 2E = 60°
(c) DE=5cm, £E = 60°
(d) DE =5 cm, £D = 600
18. &3t 130-150 &r Foi-fea &
The class-mark of the class 130-150 is :
(a) 130
(b) 135
(c) 140
(d) 145
19. | gAfeeor x-2y = 4 & & &
The solution of equation x-2y = 4 is:
(@) (0.2)
(b) (4,0)
() (2,0)
(d) (1,1)
20.

& 1S IPfA A, HA @ PO & FoA, THR i HOT H g 82

In the given figure, which pair of angles represent interior alternate angle?

A
v

r's

~1
\§
A J
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SECTION - B

s § & Hel 20 WA ¢, A8 & gl 16 U= Y §oT Hell B

Section B comprises of 20 questions. Any 16 are to be attempted.

21.

Ife (30 + x)° T WYL T 40° g, T X HT AT gH:

If (30+x)° is supplement of 40°, then value of x is:
(a) 110

(b) 100

(c) 60

(d) 65

22.

Tsh A ABC &, afg 2A - zB = 42° 3iR «B - «C = 21° &, @ «B &1 &9 §:

Ina AABC, if A - 2B =420 and 2B - 2C = 219, then the measure of 2B is:
(a) 320
(b) 630
(c) 530
(d) 959

23.

(3a* b* ) X (18 a®> b® ) & AW §:

The value of (3a% b®) X (18 a3 b®) is:
(@) 18 a7 b8
b) 54 a* b8

c) 3a’bd

(
(
(d) 54 a7 b®

24.

U SRERAT §¢o H, U oy &I ALY AT 10 3R g7 1 @iz 6 &1 39 T
Fr e @

In a frequency distribution, the mid value of a class is 10 and the width of the class

is 6. The lower limit of the class is :

a) 6

b) 7

c) 8
1

(
(
(
(d) 12

25.

U FACASTE B A, Ffe MY Aot R Foi & AT F QAT 8, A BT
& MY lor &1 AT §:

In an isosceles triangle, if the vertex angle is twice the sum of the base angles, then
the measure of vertex angle of the triangle is:

(a) 1000
(b) 1200
(c) 1100
(d) 1300




26.

V25 & A SR
The value of W is equal to:

(@274

(b) 3*

© 273

d) 25

27.

&r a8 i A, PQ I RS &, @ x & #A AT HMfSv]
In the given figure, PQ Il RS, find the value of x.

2

P A
«

v

500
X

123°

al

R B C

v

W

(a) 73°
(b) 50°
() 127°
(d) 40°

28.

IfE x 3R y AT FHEROT ax + by + ¢ = 0 & UACHS & g, o gHLT AT
" g

(@)  ggelr T

(b)  GERT =T

(c) e wcqaer

(d)  =iter e

If x and y are both positive solutions of equation ax + by + ¢ = 0, always lie in:
(a) First quadrant
(b) Second quadrant
(c) Third quadrant
(d) Fourth quadrant

29.

1 1 1 1
+

2 Ve T Gawa o or Vo

1 1 1 .
Thevalueof1+ﬁ+ﬁ+\/§+\/§+ﬂ+ ...... +mls.




30.

3Mpfd A, £B'A'C’ I AT &
In figure, the measure 2B’A’C’ is:
A

3x

6 cm

70°

S5cm C

a) 500

(d) 800

31.

&1 a8 T A, x & AW §:

In the given figure, the value of x is:

120°

v

x +10°

(a) 230°
(b) 100°
(c) 120°
(d) 115°

32.

g&oit 25, 81, 20, 22, 16, 6, 17, 15, 12, 30, 32, 10, 91, 8, 11, 20 & 3icRTel
20 - 30 # §E&T &
The number in the interval 20-30 in the observations 25, 81, 20, 22, 16, 6, 17, 15, 12,
30,32, 10,91, 8,11, 20 is:

(@ 4
b)

<)
d

Q1

NN O

33.

V3-1
V3+1

;1 =a - b\/3, then the value of a + b is:
3

a
b) 1
-1

j o~~~

=a-b/3g da+ba AAE:

@

If

c
d

/-\/-\/-\Aa
N~ o = R

~—
N




34.

Ife v R T a0 F g (-3, 3), (0, 0) 31X (3, -3) &, aF 3T TSRO
g

If a linear equation has solutions (-3, 3), (0, 0) and (3, -3), then its equation is:
a) y-x=0
b) x+y=0
c) 2x+y=0
d) -x+2y=0

35.

Ueh dd IRERdT S A, Teh T o 331 RgeT 15 ¢ 3R e @Ar 13 §, ar
SHET 3TT AT ¢

In a continuous frequency distribution, class mark of a class is 15 and lower limit
is 13, then its upper limit is:

(@) 16
b) 14
c) 13

(
(
(d) 17

36.

Teh AR T 36 a¥ & Rofec & Wod a¥ & Relec @ ool H
e &1 38T el & Jodeh faendf @ 3 g 3R 75 gfderd & Fox gredient
I Tear o offl Mo a¥ & 75 gfawd & 31f0 3ie urcd e arelt
&1 & fav 38a aRoma ey @ida gedr for@ ol 38 gant faganfiat
¥ Thd fhT 0 IHs R TR T O MRS wAA & 3T E

(a) grafAs 31 3R aitor 3RS

(b) TgfAe 3R 3R FUTICT 3Ths

(c) et gruffAe 3Hhs

(d) 7ftor 377 3R TTAfAF 3R

To compare this year result with last year’s result, teacher went to the class and
collected this year number of distinctions from the students. For last year’s
number of distinctions, she opened the result register & wrote the required
number of distinctions. The data collected by her from the students & register
respectively, are examples of:

(a) Primary data & Secondary data

b) Primary data & Raw data
¢) Both Primary data
d) Secondary data and Primary data

(
(
(

37.

X =y &l 3Toid Th T3 & g
(a) X-378T & o9
(b) y-37&T & FATAR
(c) x-37&T & FATAR
(d) 7 Tog & F[oraT




The graph of x =y is a straight line:
(a) perpendicular to x-axis
(b) parallel to y-axis
(c) parallel to x-axis
(d) Passing through the origin

38. | = T o wHIEROT @ ERATT &
The given graph represents the equation:
\%
44
1 -/
f,-s-f; —‘:s jz/—;{" i )
//li ~1) Ei
/ 5
_;'-
\;'17
(@)3x-7y =10
(b)y-2x=3
(c)8y -6x=4
(d) 5x +17y =25
39. q‘%"xz\/§+2%’(_-n' x—iEhT'HTH%Z
If x = /5 + 2, then the value of x - i is:
(a) 2v/5
(b) 4
© 2
(d) 5
40.

& 1S A A, a+b FT AW &

In the given figure, the value of a + b is:

F 3

TS -9

v




SECTION - C
FY Tear W 3ImaRT 9T

Case Study based Questions

s ¥ A T W MURT Fef 10 9o ¢, S @ foheer 8 geal &l gef

T B
Section C comprises of 10 questions. Any 8 are to be attempted.

g Tear - |

T Qe #, Aarfat gart gt & fav tE 9 3Rt wifder a1y S
& fAvy fom srr § | AR fR@ie av eER ABC U W fe@rar g 3R
DEFG urfehar &t few@rar &:

Case Study - I
In a society, residence decide to build a park for children and a parking area.

ABC shows the park and DEFG shows the parking as shown below:

Ya

74

6-

54

44

21 Af :

X'¢ RN —L | N | N
1-:2.83.-4 86 8 7.8
2";,

41 & 45 Th & YAl & AT GIoIT:-

Answer the questions from 41 to 45:-

41.

A & e faf@u
Worite the coordinates of A.

(@) (1,2)




42,

D & fadens faf@u|
Write the coordinates of D.
(@) (0.1)
(b) (1,3)
© (5,0)
(d) (0,5)

43.

F & fadens faf@ul
Wirite the coordinates of F.
(a) (3,8)
(b) (8,3)

() 3,0)
(d) 0.8)

44.

9T T &F%d (FI SHBAT H) g
Area of the park (in square units) is:
(@)1
(b) 2
() 3
(d) 4

45.

qifcheT T &A%l (I SHIBAT H) &

Area of the parking (in square units) is:
(a) 2

(b)

)

(d)6

8
9

&g &S -
T PYSIPR Wd & MY A, B 3R C & ur 35T ofsm3it & «isr$ 120 m, 80
m 3R 50 m &l fFAET U & Th NG 3 m AT Hresh & v sisd gu and
R §1¢ AT dgdl gl §16 oFdle &l @9 T 20 9fd m gI§6 e &

ag fFae @ @ # gfdw f @ Far gl

Case Study - II
A triangular field has vertices A, B and C. The length of sides are 120 m, 80 m and
50 m. The farmer wants to fence his field all around leaving a space 3 m wide for
a gate on one side. The cost of fencing it with barbed wire is X 20 per meter. After
fencing, farmer cultivates coriander in the field.

A
() 11 o hr?"*:-._‘_ sl n
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46 @ 50 d& & Y& & I SfST-

Answer the questions from 46 to 50:-

46.

SR W &1 3 IRAT gram
The semi-perimeter of the triangular field is:
(a) 250 m
(b) 125 m
(c) 500 m
(d) 300 m

47.

Wd T 9RAT gHEm:
The perimeter of the field is:
(a) 250 m
(b) 125m
(c) 500 m
(d) 300 m

48.

Td & IR NP 918 I & fAT 3E™qs aR Hr 9 gl
The length of the wire needed for fencing is:

(a) 250 m

(b) 122 m

(c) 497 m

(d) 247 m

49.

HiCER AR o@Tdlel T FHel T G
The cost of fencing is:

(a) 34000

(b) T 5000

(c) 34940

(d) 2500

50.

Y HT Fol &TThel BIaM:
Total area of the field is:
(a) 375v/3 m2
(b) 375V15 m?
(c) 500 m2
(d) 500v/5 m?




